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1. 2CH;COCH; +  NaOH — CH;COCH,COH(CHj;),.

2. CHs +  CH;COCIAIC; — CeHsCOCH;  +
3. CH;C=CH +  H,0/H,;SO4HgSO, —  CH;COCH;
4. NaOH(aq) + CH;CONHBr/heat — CH3NH, +

5. CGHsOH +  CH;CO,H/H,SO,,heat —  CH;CO,C,H;
6

HCI

CO,

CH;CHO + NHsaq) + KCN(aq) — CH;CH(NH,)CN

H;0' —  CH3;CH(NH,)CO,H
=L RBPE R R EE T AN B CH 053 BB P (12%).

A : mp88°C; singlet,52.23,1H
doublet, 6392, 1H ,J= 7Hz
doublet, 0498 ,1H ,J= 7Hz
singlet , 86.81 , 10 H
singlet , 86.99 , 5 H

B: mp88°C; singlet,d2.14,1H
singlet , 63.55,2 H
broad, 67.25(" %),15H

(% 1F > x2F)
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7 . Define each of the following (14%):
(1) SN; (2) E, (3)Witting reaction (4)solvent-free reaction

(%27 > 2F)



